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                               Problem 10.6: Interchange 2’ and 2 in the equation. 
	
The equation should read as  
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                             Problem 10.16: Insert the following sentence at the end of the problem. 
Inlet velocity is purely axial.
                             Problem 10.17: Modify the answers to include other variables
Ans: P = 185 kW; 1 = 45.90;1 = 32.30
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                             Problem 10: 19: Modify the answers to read as given below: 
Ans: 1= 30.97°; β2 = 50.9°; α1 = 46.94°; α2 = 23.43°  
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